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Marking Guidelines

The Grade 12 Essential Mathematics Achievement Test: Marking Guide (June 2017) is based on
Grades 9 to 12 Mathematics: Manitoba Curriculum Framework of Outcomes (2014).

Please ensure that

e the student booklet number matches the number on the Scoring Sheet

e only a pencil is used to complete the Scoring Sheet

e the final test mark is recorded on the Scoring Sheet

e the Scoring Sheet is complete and a copy has been made for school records

Please make no marks in the student test booklets. If the booklets have marks in them, the
marks need to be removed by departmental staff prior to sample marking should the booklet be
selected.

Once marking is completed, please forward the Scoring Sheets to Manitoba Education and
Training using the envelope provided (for more information, see the administration manual).

Marking

The recommended procedure for scoring student responses is as follows:

1. Read the Marking Guide.
2. Study the student samples provided and the rationales for the allotted marks.

3. Determine the mark for the student’s response by comparing its features with the Marking
Guide descriptions. The descriptions and samples only typify a student’s response to a given
question; an exact match is not anticipated.

The marks allocated to questions are based on the concepts associated with the learning outcomes
in the curriculum. For each question, shade in the circle on the Scoring Sheet that represents the
mark awarded based on the concepts. A total of these marks will provide the preliminary mark.

Errors
Marks are deducted if conceptual or communication errors are committed.

Conceptual Errors

As a guiding principle, students should only be penalized once for each error committed in the
context of a test question. For example, students may choose an inappropriate strategy for a
question, but carry it through correctly and arrive at an incorrect answer. In such cases, students
should be penalized for having selected an inappropriate strategy for the task at hand, but should
be given credit for having arrived at an answer consistent with their choice of strategy.
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Communication Errors

Errors not conceptually related to the learning outcomes associated with the question are called
“Communication Errors” (see Appendix C). These errors result in a 0.5 mark deduction. Each type
of error can only be deducted once per test and is tracked in a separate section on the

Scoring Sheet.

When a given response includes multiple types of communication errors, deductions are
indicated in the order in which the errors occur in the response. No communication errors are
recorded for work that has not been awarded marks. The total deduction may not exceed the
marks awarded.

The student’s final mark is determined by subtracting the communication errors from the
preliminary mark.
Example:

A student has a preliminary mark of 56. The student committed two E1 errors (0.5 mark deduction)
and three E4 errors (0.5 mark deduction).

COMMUNICATION ERRORS/ERREURS DE COMMUNICATION
Shade in the circles below for a maximum total deduction Noircir les cercles ci-dessous pour une déduction maximale
of 2.5 marks (0.5 mark deduction per error type). Refer to totale de 2,5 points (déduction de 0,5 point par type
Marking Guide for details. d’erreur). Consultez le Guide de Correction pour plus de
détails.
E1l E2 E3 E4 ES
Rounding/ Units/ Transcription Final Answer/ Whole Units/
Arrondissement Unités Transposition Réponse finale Unités entieres

Test mark / Note au test : 56 - 1 = 55
76

Preliminary Mark Communication Errors

Note préliminaire (maximum 2.5 marks)

Erreurs de communication
(maximum 2,5 points)

Marking Guidelines

Table Values

One mark will be awarded to a student that circles the correct value in a given table. In other
words, this will be considered the equivalent of the student writing the correct value in the space
provided.
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Follow-through errors

Generally, a student will not be penalized more than once for the same error. A final answer will be
deemed to be correct if it follows correctly from an incorrect intermediate step where marks were
already lost. In multiple-part questions, if an error was made in Part A, but subsequent parts were
completed appropriately based on the incorrect information in Part A, full marks will be awarded
in subsequent parts.

Marks for follow-through errors will not be awarded if

e the answer is wrong and there are no part-mark increments available

e the error is conceptual in nature (e.g., the student used the simple Cosine ratio when the
question called for the use of the Cosine Law)

Additional-information errors

Students can occasionally provide too much information in their answers. When additional
information is provided, it must be clearly indicated as such. For example, if a student is asked to
calculate a probability, then full marks are awarded for a correct answer even if the odds are also
present—provided this additional information is labelled “odds.”

Irregularities in Provincial Tests

During the administration of provincial tests, supervising teachers may encounter irregularities.
Markers may also encounter irregularities during local marking sessions. The appendix provides
examples of such irregularities as well as procedures to follow to report irregularities.

If a Scoring Sheet is marked with “0” and/or “NR” only (e.g., student was present but did not
attempt any questions) please document this on the /rregular Test Booklet Report.

Assistance

If any issue arises that cannot be resolved locally during marking, please call Manitoba
Education and Training at the earliest opportunity to advise us of the situation and seek
assistance if necessary.

You must contact the person responsible for this project before making any modifications to the
marking keys.

Jennifer Maw

Assistant Coordinator

Grade 12 Essential Mathematics
Telephone: 204-945-5886

Toll-Free: 1-800-282-8069, ext. 5886
Email: jennifer.maw(@gov.mb.ca
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Home Finance

Question 1 E6.H.1 2 marks

Alain’s total portioned assessment for his property is $83 750. His municipality uses the following
tax rates:

General Municipal: 21.01 mills
Provincial Education: 8.113 mills
Local School: 18.264 mills
Local Improvements: none

Calculate the total property tax that Alain will pay if he receives a provincial tax credit of $700.

Answer:

General Municipal: $83 750 21.01 =$1759.59

1000

Provincial Education: $83 7?8028'113 =$679.46 ¢ < 1 mark for process

Local School: $83 750 x 18.264 =$1529.61

1000

Total Property Taxes Due: $1759.59 + $679.46 + $1529.61 — $700
= $3268.66 < 1 mark

6 Essential Mathematics: Marking Guide (June 2017)



Exemplar 1 (2 marks)

cr = IvTo

WV

x2hot = $17599%

- 83750
PE T =519 20k = 15246l

ToepRaae S 2o

Nsuis 3, \Szubl 00
= }zvs 24y

Mark: 1 out of 2

Rationale: Incorrect process (did not calculate provincial education tax)
E1 (rounds incorrectly) (General Municipal)
Note: No E1 deduction because no mark is awarded for this step.
Correct property tax (follow-through error) (1 mark)

Exemplar 2 (2 marks)

8% 7150
——— %474 - $3969.95
(000

Mark: 1 out of 2
Rationale: Correct process (alternate method) (1 mark)
E1 (rounds too soon) (mill rate)
Incorrect property tax (did not subtract the provincial tax credit)

Exemplar 3 (2 marks)

83250 -83.75
\000

175460 ¥ §29.4(. 159961 -eqQ

Mark: 2 out of 2

Rationale: Correct process (1 mark)
E1 (rounds incorrectly) (General Municipal)
Correct property tax (1 mark)
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Question 2  E6H.I 1 mark

Manitoba recently recorded one of the coldest winters on record.

State one energy-efficient improvement a homeowner could make to their home to reduce their
heating bill.

Sample Answers:

- installing new windows

- installing weather stripping around doors
- installing a high-efficiency furnace

— re-insulating attic or walls
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Exemplar 1

(1 mark)

‘\(\S*')\\ M vse 2 ool bum.'«g 'Fs‘f‘e,pl’a&.e...

Mark: 0 out of 1
Rationale: Incorrect response

Exemplar 2

(1 mark)

ool Lp
ot \CSV\*
onck

A0t e
[
neot o>

o ot

Mark: 0 out of 1
Rationale: Incorrect response
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Question 3  E6H.I

2 marks

Bahari has $40 000 worth of contents he would like to insure. He purchases a comprehensive

tenant’s insurance policy with a $200 deductible.

Calculate his annual premium.

Annual Premium Table

Tenant Package Policy ($500 deductible)

All Areas

Coverage Amount Standard Form Comprehensive Form

$25,000 $158.00 $200.00
$30,000 $174.00 $226.00
$35,000 $199.00 $252.00
$40,000 $212.00 $269.00
$45,000 $235.00 $298.00
$50,000 $254.00 $324.00
$55,000 $272.00 $346.00
$60,000 $293.00 $373.00
$65,000 $315.00 $400.00
$70,000 $337.00 $427.00
$75,000 $359.00 $454.00

Each additional $1,000 $4.50

$200 deductible: increase premium by 10%

Answer:

Annual premium ($500 deductible): $269 < 1 mark
Annual premium ($200 deductible): $269 x 1.10
= $295.90 < 1 mark

Note to marker: Award 1 mark if the correct table value is indicated.
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Exemplar 1 (2 marks)

261000 % 1,00=$29590¢

Mark: 1 out of 2
Rationale: Incorrect table value
Correct final answer (follow-through error) (1 mark)

Exemplar 2 (2 marks)
Z6Q.00 Yo =2¢. %o
Mark: 1 out of 2
Rationale: Correct table value (1 mark)
Incorrect final answer
E2 (does not include units in final answer)
Note: No E2 deduction because no mark is awarded for this step.
Exemplar 3 (2 marks)

b
269 00 + 107 261
ANwat ?mm’ium

Mark: 1 out of 2

Rationale: Correct table value (1 mark)
Incorrect final answer
E4 (does not express the answer to the appropriate number of decimal places)
Note: No E4 deduction because no mark is awarded for this step.
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Question 4  E6.H.I

2 marks

State 2 initial (one-time) costs when purchasing a house.

Place one response per line.

Sample answers:

— home inspection fees

— land transfer tax

- lawyer fees

— down payment

- movers

— utility hook-up fees

— insurance adjustment

— decorating/renovating costs
— appliances

(2 x 1 mark)

Note to marker: Award a maximum of 1 mark for each line.

12
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Exemplar 1 (2 marks)

1 IASUOuACe

5 cOSt of water

Mark: 0 out of 2
Rationale: Two incorrect responses (ongoing costs)

Exemplar 2 (2 marks)
1. YENLOVALION S
2. reQitor

Mark: 1 out of 2
Rationale: One correct response (renovations) (1 mark)

Exemplar 3 (2 marks)

1. _Moursy beudk

9. '\"AL ?U\rdqc‘ge @@ p\& L\MQ éi

Mark: 1 out of 2
Rationale: One correct response (moving truck) (1 mark)
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Question 5  EcH. 1 mark

Choose the letter that best completes the statement below.
When calculating property taxes, the cost of local improvements is based on:

A) the area of the city

B) the frontage

C) the square footage of the house
D) the distance from the fire hydrant

Answer: B)

14 Essential Mathematics: Marking Guide (June 2017)






Question 6 EoHI 3 marks

Paco earns $3100 monthly and would like to purchase a new house. The monthly mortgage

payment will be $797, the monthly heating costs will be $150 and the annual property taxes are
$2400.

Calculate Paco’s Gross Debt Service Ratio (GDSR).

Answer:

Monthly property taxes: $2400 + 12 = $200

Monthly Monthly Monthly
mortgage + property + heating
payment taxes costs

GDSR = - x 100
Gross monthly income

No mark for 1 correct substitution

797 + $200 + $150 or
_ ($ $ $150) % 10041 mark for 2 or 3 correct substitutions
$3100 or

2 marks for all correct substitutions

=37% <« 1 mark
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Exemplar 1 (3 marks)

GOSP = 743 4 Q40+ ISO /4y,

Yl
Ghsr = 103°

Mark: 2 out of 3
Rationale: 3 correct substitutions (1 mark)
Correct GDSR (follow-through error) (1 mark)
E1 (rounds incorrectly)
E4 (does not express the answer to the appropriate number of decimal places)

Exemplar 2 (3 marks)

GO SW- (15701 7 +$PRAU0O 550 >x
300

SRR ~$107,98

Mark: 2 out of 3

Rationale: 3 correct substitutions (1 mark)
Correct GDSR (follow-through error) (1 mark)
E1 (rounds incorrectly)
E2 (uses incorrect units of measure)

1006

Exemplar 3 (3 marks)

200/17. =00

BGOSR =797 + (50 + 200 \no
3100

G()%P’ = 37

Mark: 3 out of 3

Rationale: All correct substitutions (2 marks)
Correct GDSR (1 mark)
E2 (does not include units in final answer)
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Question 7 E6H.1 2 marks

Andy is buying a house and needs a mortgage.
State 2 ways he can lower the total interest paid on the mortgage of the house.

Place one response per line.

Sample answers:

- make a larger down payment

— shorten his amortization period
- get a lower interest rate

- increase payment frequency

- make a lump sum payment

(2 x 1 mark)

Note to marker: Award a maximum of 1 mark for each line.
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Exemplar 1 (2 marks)

1. ™MdKe Q lQ(o\e( dowon @%mevﬁ 7

) PUTNASE Q. 1esSS CXPRNSIVE \\OUSE

Mark: 1 out of 2
Rationale: One correct response (larger down payment) (1 mark)

Exemplar 2 (2 marks)
1, h cher donn p bt
2. InC[e2se  Maritization pedod

Mark: 1 out of 2
Rationale: One correct response (higher down payment) (1 mark)

Exemplar 3 (2 marks)

{ind _a bedler in'\czrest RPale

M@r a_ ke of s»efi e
Se kel el o Qo\b

Mark: 1 out of 2
Rationale: One correct response (find a better interest rate) (1 mark)
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Probability

Question 8 E6.P.1 2 marks

The probability of Jen winning a swimming race is 1 out of 7.

State the probability of winning as a decimal and a percent.

Decimal:

Percent:

Answer:

Decimal: 0.14 < 1 mark
Percent: 14.29% « 1 mark
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Exemplar 1 (2 marks)

—
percents | U0

Mark: 1 out of 2
Rationale: Incorrect decimal
E1 (rounds incorrectly)
Note: No E1 deduction because no mark is awarded for this step.
Correct percent (1 mark)
E4 (does not express the answer to the appropriate number of decimal places)

Exemplar 2 (2 marks)

Decimal: {3 R H 5
Percent: [ H - ,5 0[0

Mark: 2 out of 2

Rationale: Correct decimal (1 mark)
E4 (does not express the answer to the appropriate number of decimal places)
Correct percent (1 mark)
E4 (does not express the answer to the appropriate number of decimal places)
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Question 9 E6.P.1 2 marks

The following spinner is divided into 4 colours.

green blue

N

white yellow

The spinner was spun 40 times and the results are shown in the table below.

Colour Number of Times
green 16
yellow 11
white 8
blue 5

A) State the experimental probability of spinning white. (1 mark)

Answer:

% or 0.2 or 20% or oneoutoffive

Note to marker: Accept equivalent representations.

B) State the theoretical probability of spinning white. (1 mark)

Answer:

1
Z or 025 or 25% or one outof four

Note to marker: Accept equivalent representations.
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Exemplar 1

(2 marks)

A e e e

8 Q

Mark: 1 out of 2
Rationale: Incorrect answer in Part A

Correct answer in Part B (1 mark)

Exemplar 2

(2 marks)

A)

0 FoeS oF the U0 Juwey
s Dol mort Heg

Mark: 1 out of 2
Rationale: Correct answer in Part A (1 mark)

Incorrect answer in Part B

Essential Mathematics: Marking Guide (June 2017)
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Question 10 E6.P.1 3 marks

The probability of a baseball team winning a tournament is 15%.The entry fee is $200. If they
win the tournament, the team will receive a cash prize of $1000.

Calculate the expected value (EV).

Answer:

$gain: $1000 — $200 = $800
$loss: $200
EV = P(win) X $gain — P(lose) X $loss

No mark for 1 correct substitution
or

= (0.15)($800) — (0.85)($200) 4 1 mark for 2 or 3 correct substitutions
or
2 marks for all correct substitutions

= -$50 « 1 mark

OR

Answer:

Average gain: (0.15)($1000)
=$150 < 2 marks

EV =$150-3%200
=-$50 < 1 mark
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Exemplar 1 (3 marks)

ey = 0415 (low) 200 + 180
ev: 150 =$350

Mark: 2 out of 3
Rationale: Correct average gain (2 marks)
Incorrect final answer

Exemplar 2 (3 marks)

Yrizel 1000
fee f 200
Provobility. = 572

Ev=(wn)x gan—P (lose ] x195¢

(015 1000 _ (035)x 400
|5 - \Jo= -0

EN = -X0

Mark: 2 out of 3

Rationale: 3 correct substitutions (1 mark)
Correct final answer (follow-through error) (1 mark)
E2 (does not include units in final answer)

Exemplar 3 (3 marks)

O.1s « 400 = |35
0.7S x-200=-15D +
=PI

Mark: 2 out of 3
Rationale: 2 correct substitutions (1 mark)
Correct final answer (follow-through error) (1 mark)
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Question 11 E6.P.1 2 marks

Akuna is the manager of an assembly line that makes compact fluorescent light bulbs. Workers
on the assembly line randomly chose 250 light bulbs to test and found 1 defective light bulb.
A) State the experimental probability, in fraction form, of a light bulb being defective. (1 mark)

Answer:

250

Note to marker: Accept equivalent representations.

B) State the number of defective light bulbs that are expected in a shipment of 5000 light bulbs.
(1 mark)

Answer:

Defective light bulbs = L % 5000
250

= 20 bulbs « 1 mark
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Exemplar 1 (2 marks)

T T

L [ e defedivt
) -—1’5‘0 - /L{ E‘S\C).wmw "
&—- ~ .08 x 100 S+ ofo.CwW‘*”“?U‘boibs
B) 560

Mark: 0 out of 2
Rationale: Incorrect answer in Part A

Incorrect answer in Part B

Exemplar 2 (2 marks)
A) l/
S0y
B) \ XéOOO - 20.0%

Fi
E 20 Iighﬁbula

Mark: 1 out of 2
Rationale: Incorrect answer in Part A

Correct answer in Part B (follow-through error) (1 mark)

Exemplar 3 (2 marks)

A RED

B) Q0500

Mark: 2 out of 2
Rationale: Correct answer in Part A (1 mark)

Correct answer in Part B (1 mark)
E4 (final answer not clearly indicated in Part B)
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Question 12  E6P.1 1 mark

The odds against hitting a deer on the highway each year are 49 : 1.

State the probability of hitting a deer this year.

Answer:

1
0 or 002 or 2% or oneoutof fifty

Note to marker: Accept equivalent representations.
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Exemplar 1

(1 mark)

2.047,

Mark: 0 out of 1
Rationale: Incorrect answer

Exemplar 2

(1 mark)

SO/,

Mark: 0 out of 1
Rationale: Incorrect answer

Essential Mathematics: Marking Guide (June 2017)
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Vehicle Finance

Question 13 E5V.I

2 marks

A car has a value of $23 000. It depreciates at a rate of 20% per year.

Calculate the value of the car at the end of 2 years.

Answer:

Value at end of 1st year: $23 000 x 0.8
=$18 400 < 1 mark

Value at end of 2nd year: $18 400 x 0.8
=$14 720 < 1 mark

OR
Answer:

Depreciation amount after 1st year: $23 000 x 0.2
= $4600

Value at end of st year: $23 000 — $4600
= $18 400 < 1 mark

Depreciation amount after 2nd year: $18 400 x 0.2
= $3680

Value at end of 2nd year: $18 400 — $3680

=$14 720 < 1 mark
OR
Answer:
Value at end of 2nd year: $23 000 x (1— 0.2)2 1 mark
=$14 720 « 1 mark
30
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Exemplar 1

(2 marks)

Ve ) 2% 000K, 2 = b bew
r L3000 ~bL{oo = 4€Aago _

s

9 = Sé%0
2 680 = Ro%2e

R

j?L,DOO X
Y( 18 Loe° ”

Mark: 1 out of 2
Rationale: Incorrect Ist year value

Correct 2nd year value (follow-through error) (1 mark)

E2 (does not include units in final answer)

Exemplar 2

(2 marks)

Com yalu a:tzjo 2

1"3.&@/\: 23600 X0, 26 Yée2

(¢ 4o o
- 268>

270006 - 146 60 =

2V tn = 18 Yoo 2020
18%00 - 3685 $14F20

wwﬂ/@j 2 Moo cuvalvae #$ :jlq}lo
vl
_V’dl',,w"

23000 _ {220 —:szv)

Mark: 2 out of 2
Rationale: Correct Ist year value (1 mark)
Correct 2nd year value (1 mark)

Exemplar 3

(2 marks)

22000 990
250 O

|o@
PRV AN

g Uoo e

3 ‘*7@0- X0
. ~'IE/D = 2690

D
(€ de0 T
T

Mark: 2 out of 2
Rationale: Correct 1st year value (1 mark)
Correct 2nd year value (1 mark)
E2 (does not include units in final answer)

31
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Question 14 E5.V.1 4 marks

Saar wants to buy a new car for $23 500 after taxes. He gets a 4-year loan at an annual interest rate
of 6.75%.

A) Calculate the amount of interest paid for the first month. (2 marks)

Answer:

[ = Prt
= $23 500 x 0.0675 % % < 1 mark for all correct substitutions
=$132.19 « 1 mark

Note to marker: Award a mark for a follow-through error only if two of three correct
substitutions are made.

B) Saar’s monthly car payment is $560.01.

Calculate the amount of interest paid over the life of the loan. (2 marks)

Answer:

Total paid: $560.01 x 12 x 4
= $26 880.48 <« 1 mark

Total interest: $26 880.48 — $23 500
= $3380.48 « 1 mark
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Exemplar 1 (4 marks)

A 07500 e = 7533.37
B) Z220.L4

Mark: 1 out of 4

Rationale: Incorrect substitution (interest rate) in Part A
Correct final answer in Part A (follow-through error) (1 mark)
E2 (does not include units in final answer in Part A)

Incorrect answer in Part B
E2 (does not include units in final answer in Part B)
Note: No E2 deduction because no mark is awarded for this step.

Exemplar 2 (4 marks)
(596.25

B)  1a%000 ~ 2%k00 ¢ g WOUB500

Mark: 2 out of 4

Rationale: Incorrect substitution (time) in Part A
Correct answer in Part A (follow-through error) (1 mark)
E2 (does not include units in final answer in Part A)

Incorrect total paid in Part B
Correct interest in Part B (follow-through error) (1 mark)

Exemplar 3 (4 marks)

Ll//&
A T=Frf
2350622 fas333)
—526.75)

B) 560.0/x4%: 26 ysouy
TR 3,500

Mark: 3 out of 4

Rationale: Incorrect substitution (time) in Part A
Correct answer in Part A (follow-through error) (1 mark)

Two correct answers in Part B (2 marks)
E2 (does not include units in final answer in Part B)
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Question 15  ES.V.1 4 marks

Jersey wants to buy a used car from her friend, Jack. The price of the car is $7000. She needs to
fix a few things on the car.

Repairs Total Cost
New Tires $500
Engine Tune-Up $110

The book value of the car is $5000. She needs to get a lien search worth $18 and a $40 safety
inspection before taxes.

Calculate the total tax she will pay for this car.

Answer:

Repairs: ($500 + $110) x 0.13
=$79.30 < 1 mark

Safety inspection: $40 x 0.05
= $2.00 « 1 mark

PST: $7000 x 0.08
= $560.00 « 1 mark

Total tax: $79.30 + $2.00 + $560.00
=$641.30 <« 1 mark

Note to marker: If the total cost ($8309.30) is calculated instead of the total tax, award 3 marks.

34 Essential Mathematics: Marking Guide (June 2017)



Exemplar 1 (4 marks)
v QY gooo
'owkvo\ve‘:b 5000 X 0.0¢ = L4pO
Teppii C) o x 0% =42 400 4+ 900 X (h59
lien d) 11'
fored €) 7000 4400 +wng H1¥ 5 €05
Mark: 0 out of 4
Rationale: Did not calculate tax on repairs
Incorrect tax on safety
Incorrect PST
Incorrect total tax
Exemplar 2 (4 marks)

7 goo 05 =350
WX .ofz bE
Glo X, 13 = 243

§ 4325

lodsr fax

Mark: 2 out of 4
Rationale: Incorrect PST
Incorrect tax on safety
Correct tax on repairs (1 mark)

Correct final answer (follow-through error) (1 mark)

E4 (does not express the answer to the appropriate number of decimal places)

Exemplar 3

(4 marks)

F1500 +HIDEHY 3+ 55000 + 15D
7000(0.09) =456 0 s

Wo(0.05) =43

500(11%) 4565
no\A2) =4\24.%

She wi\ pay %1209 50

Mark: 2 out of 4

Rationale: Incorrect tax on repairs
Correct tax on safety (1 mark)
Correct PST (1 mark)
Incorrect total tax
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Question 16  E5V.1 1 mark

A retired couple drives 500 km each month to go to the dog park, the grocery store, and the mall.

State the type of car insurance policy their agent would recommend.

Answer:

pleasure

Note to marker: Award 1 mark if student refers to “pleasure” (e.g., for pleasure).
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Question 17  ES.V.1 2 marks

Mabon was told by a dealership that his new car would use 5.5 L of fuel for every 100 km driven.
In reality, the car is using 8 L of fuel for every 100 km he drives.

Calculate how much more fuel is used than expected if he drives 1500 km.

Answer:

Extra litres used per 100 km: 8 L/100 km — 5.5 L/100 km
=2.5L/100 km < 1 mark

Extra fuel used for 1500 km: % x 2.5 L/100 km
=375L « 1 mark
OR
Answer:
Fuel consumption: 1500 km X
km
=120L
t «<— 1 mark for correct calculation of either
55 the car’s consumption or the posted
Dealership’s posted consumption: 1500 km X — consumption
100 km
=825L
Extra fuel used for 1500 km: 120 — 82.5
=375L < 1 mark
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(2 marks)

Exemplar 1

Bx 1G= 2ok ites of Suel /s psed

‘%QQ loe = ‘g

Mark: 1 out of 2
Rationale: Correct process (1 mark)
Incorrect final answer
E2 (does not include units in final answer)
Note: No E2 deduction because no mark is awarded for this step.

(2 marks)

Exemplar 2

Tht Cor Wold Ug eltren 31,SL of byl
Tor 1500 1m
Mark: 1 out of 2

Rationale: No process shown
Correct answer (1 mark)

(2 marks)

Exemplar 3

A5x 16 =25 L

Mark: 2 out of 2
Rationale: Correct process (1 mark)
Correct answer (1 mark)
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Question 18  Es.V.1 1 mark

Choose the letter that best completes the statement below.
Your car insurance premium is not affected by:

A) moving to the city from the country

B) changing the amount of deductible

C) being in a demerit position on the Driver Safety Rating scale (DSR)
D) changing the type of insurance

Answer: C)
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Question 19 EsV.

3 marks

Jonas is purchasing a car. The following table shows the various details of his purchase.

Value of Car $23 000 Number of Payments 48
Tax $2990 | Amount Borrowed $22 990
Down Payment $3000 | Cost of Financing $1840

A) Calculate the total cost of the car after taxes and financing. (2 marks)

Answer:
Value of car: $23 000
Tax: $2990 + «— 1 mark

Cost of financing: $1840

Cost after financing: $27 830 <« 1 mark

OR

Answer:

Amount borrowed: $22 990

Down payment: $3000 ; < 1 mark
Cost of financing: $1840

Cost after financing: $27 830 <« 1 mark

B) Jonas paid a total of $24 830 in monthly car payments.

State the amount he paid each month. (1 mark)

Answer:
Monthly payment = $24411883O
=$517.29 <« 1 mark

42
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Exemplar 1 (3 marks)

A) KRR IIO+IVOO+ R97O+(54 0
=330 o0

B)

Mark: 1 out of 3
Rationale: Incorrect process in Part A (1 additional value)
Correct answer in Part A (follow-through error) (1 mark)

No response in Part B

Exemplar 2 (3 marks)

n S7 W4

Mark: 2 out of 3
Rationale: No process shown
Correct answer in Part A (1 mark)
Correct answer in Part B (1 mark)
E2 (does not include units in final answer in Part B)

Exemplar 3 (3 marks)

N 23000+790n3i0%1129

B oy 820 % 512

Mark: 2 out of 3
Rationale: Correct process in Part A (1 mark)
Incorrect answer in Part A
Correct answer in Part B (1 mark)
E3 (makes a transcription error in Part B) (total monthly payment)
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Question 20  Es.V. 2 marks

Wilma needs to get one of her car’s headlights replaced. The headlight will cost $200. It will take
1.5 hours of labour to replace the headlight at a rate of $90 an hour.

Calculate the total cost, after taxes, of replacing the headlight.

Answer:

Labour: 90 x 1.5
= $135

Parts: $200

< 1 mark for process
Subtotal: $135 + $200

= $335

Taxes: $335.00 x 0.13
= $43.55

Total cost: $335.00 + $43.55
= $378.55 « 1 mark
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Exemplar 1

(2 marks)

ﬂ%x;.@:ﬁ@%

Mark: 1 out of 2
Rationale: Incorrect process
Correct final answer (follow-through error) (1 mark)

Exemplar 2

(2 marks)

. 5 x Q0
one lhead U3h¥= 200 1

ONe Wial L.(Yt‘!;; Too = $ 135 X% .13

* 400 %143 = 415255

4452

ToTol = 142.25 + U4g2
= 4 boy. 55
Mark: 1 out of 2

Rationale: Incorrect process
Correct final answer (follow-through error) (1 mark)

Exemplar 3

(2 marks)

ae %13 A6 926
: q
\p\ :‘qé qg

S cir—

Mark: 1 out of 2
Rationale: Incorrect process
Correct final answer (follow-through error) (1 mark)
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Geometry and Trigonometry

Question 21  E6.G2 2 marks

A community group is building bird houses.

A) State the type of triangle that is shaded in the diagram. (1 mark)

Sample answers:

— 1sosceles
— obtuse

B) State the measure of ZC in triangle ABC. (1 mark)

Answer:
JC= 180°-120
2
=30° « 1 mark
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Exemplar 1 (2 marks)

A) Ob %V\ 5€
/4/‘79/6’/ /R 9@»‘}(3( “ﬂ)ﬁn 90
B) alz 2674 367 2(36)(36) LoSIPO

» o
0" 3259 - 7(36X36) (oS1%

e Sinllo . Sivte
a?éz.z 5‘2‘3 3

Mark: 2 out of 2
Rationale: Correct answer in Part A (1 mark)

Correct answer in Part B (1 mark)
E1 (rounds too soon in Part B)

Exemplar 2 (2 marks)

A)

B) ,QO- |8a = 6o
60-:/2 < Bo

ZCsSo

Mark: 2 out of 2
Rationale: Correct answer in Part A (1 mark)

Correct answer in Part B (1 mark)
E2 (does not include units in final answer in Part B)
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Question 22 E6.G.1 3 marks

Bartholomew is solving a math problem involving a truss bridge. The 30 metre bridge is made of
5 equilateral triangles of the same size and has 2 braces as shown in the diagram.

Brace

A) State the measure of angle A. (1 mark)

Answer:
JA = 180
3

=60° <« 1 mark

B) Calculate the length of the brace. (2 marks)

Answer: OR Answer:

“~. brace

~
~
~

120° 30%-

—10—
a’=b>+c’ —(2bc cos A)
a’=10"+20° —(2(10)(20)cos 60°) brace _ 10
a® =100 + 400 — (400 cos 60°) ¢ 1 mark for process — { 11 120° sin 30
lO(sm 120°)
a’ =300 brace=——*~
sin 30°
a =+/300
a=1732m 1 mark — brace =17.32 m

Note to marker: Accept equivalent solutions.
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Exemplar 1 (3 marks)
“ Sy (R ™=
IV AV v
A) 0 5
N W& = 2
\ A , (0
o Pe (90° X =GO
B) Ny ST ARG T
’ Dﬁ
15 A
(os%p“?fz
s = 1713 m
(0530
Tixcbtrvku ol Nt fovoee 'S5 /7. Ao,
Mark: 3 out of 3
Rationale: Correct answer in Part A (1 mark)
Correct answer in Part B (2 marks)
E2 (uses incorrect units of measure in Part B)
Exemplar 2 (3 marks)

A) \\&O - (OO.: L™

[

B) N0 .= ,s\nqo
0o LN X
X = W.Owm

SAN20 = 520

- —
{e)

¥
\/: ‘5»‘1——1%1\
* "N
\\fm:/w’o-“”"\‘ me
7.5 m lmr\%

Toon o 19
Mark: 3 out of 3
Rationale: Correct answer in Part A (1 mark)

Correct answer in Part B (2 marks)
E1 (rounds too soon in Part B)

E4 (does not express the answer to the appropriate number of decimal places)
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Exemplar 3 (3 marks)

— 14
A MnItA Zho

B) §inb0 :,}‘0 o SLARAEN

\en 71k if bract 5 \7‘3 N \OV\(’/‘

Mark: 3 out of 3
Rationale: Correct answer in Part A (1 mark)

Correct answer in Part B (2 marks)
E4 (does not express the answer to the appropriate number of decimal places)
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Question 23  E6.G2

1 mark

Identify which of the following is a property of a kite:

A) the lengths of the opposite sides are congruent
B) opposite angles are congruent
C) diagonals are congruent

D) diagonals intersect at 90°

Answer: D)
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Question 24 E6G.1 5 marks

Abia is measuring the distance a gondola travels between the base and the cabin at the top of the
mountain. The angle of elevation from the base to the cabin is 46°. The angle of elevation from

Abia to the cabin is 70°.

Base 1000 m Abia

A) Calculate the measures of angle A and angle C. (2 marks)

Answer:

ZA =180° - 70°
=110° « 1 mark

£ C=180° - (46° + 110°) or 180° —46° -110°
= 24° « 1 mark

B) Determine the distance between the base and the cabin if Abia is 1000 m from the base.

(3 marks)
Answer:
SinA _sinC < 1 mark for sine law
a c
sin 110° _ sin 24°
a 1000 - « 1 mark for process
o 1000 (sin 110°)
~ sin24°
a=2310.32m < 1 mark
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Exemplar 1 (5 marks)
L P 5o -70 = 0O°

A)
= ls2-UL -\ : 24°
Sad Sin 10

B) oo T %

(53 YR+ (S o Y(1009)

(3na)(x) = 434,04

~ 310.550m

Mark: 4 out of 5
Rationale: Correct answers in Part A (2 marks)

Correct use of sine law in Part B (1 mark)
Correct process in Part B (1 mark)
Incorrect final answer in Part B

Exemplar 2 (5 marks)
A)  Bo-70- 07
LA =\

LCx &GO -Yb -\ = u°

B oo . X
) AP\ S b \7(07:7 = S:(_(\—\\D
Sl

(WoSNSIN UL > X (Sna™)

VA = x (sinm ag\
SNy

U707, 73) (51 W)

= v(sinub)

Vol \ =« (Sin Uk

Sind
\7(;7\\‘7‘)? SnMe SInde
67,72 m A3BA A ISt

Mark: S out of 5
Rationale: Correct answers in Part A (2 marks)

Unonoury Aistonee,

Correct answer in Part B (follow-through error) (3 marks)

E1 (rounds too soon in Part B)

E4 (does not express the final answer to the appropriate number of decimal places)
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Exemplar 3 (5 marks)

WEEr

A) /80'705//% 10 f% 24°
/4:%@/7@0
5%270

A

q 2310

Mark: S out of 5
Rationale: Correct answers in Part A (2 marks)

Correct answer in Part B (3 marks)
E4 (does not express the final answer to the appropriate number of decimal places)
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Question 25  E6.G2 1 mark

Identify which of the following diagrams best illustrates an isosceles trapezoid.

A) B)
110° 111°
70° 69°
0) D)
Answer: B)
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Question 26  E6.G2 1 mark

An engineer is designing a building in the form of a regular polygon that has a central angle

;Q

64 800

She is using the formula § = —360°, where S is the sum of the interior angles of a polygon

and C is the central angle of the regular polygon.

State the sum of the interior angles of the polygon.

Answer:

64800

S —-360°

_ 64800
24°
= 2700° - 360°

= 2340° <« 1 mark

OR

S= 180°(n - 2)
S =2340° 1 mark
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Exemplar 1 (1 mark)

[130) (15-2) =15

- [56°

Mark: 0 out of 1
Rationale: Incorrect answer

Exemplar 2 (1 mark)

(6’180‘))-—350 = 234
2+

Mark: 1 out of 1
Rationale: Correct answer (1 mark)
E2 (does not include units in final answer)

Exemplar 3 (1 mark)

5-=/80015-3 )
Sum OF interror angles 1s

D SUUUPIMEUI N o s

A340

Mark: 1 out of 1
Rationale: Correct answer (1 mark)
E2 (does not include units in final answer)
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Precision Measurement

Question 27 E5.P.1 1 mark

Leanne measures her height to be 168 cm.
State the uncertainty of the measurement.

Do not round the final answer.

Uncertainty:

Answer:

Uncertainty: +0.5 cm

Note to marker: + not required.
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Exemplar 1

(1 mark)

Uncertainty: \(,8 4 0%cm

Mark: 1 out of 1
Rationale: Correct uncertainty (1 mark)
E4 (too much information is presented in the answer)

Exemplar 2

(1 mark)

Uncertainty: S Mm

Mark: 1 out of 1
Rationale: Correct uncertainty (1 mark)

Exemplar 3

(1 mark)

Uncertainty: HQ\ "’ 68
Cerdmedel

Mark: 1 out of 1
Rationale: Correct uncertainty (1 mark)
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Question 28 E5.P.1 1 mark

Explain why a pharmacist must use accurate dosages when preparing medications.

Sample answers:

- A pharmacist must be accurate so the medication can be most effective.
- A pharmacist must be accurate to prevent an overdose.

— A pharmacist must be accurate to ensure a sufficient quantity of medication (to prevent an
under dose).

— The pharmacy would lose money if extra medication was dispensed.
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Exemplar 1 (1 mark)

ow dont  wont Yo oive too [y

plis sp 't o/0€5n”( solve the \Prob(l/v\,
a\f\o[ 1‘00 M»&r\\j w '\ al{ow your 60(1\3
%o gd’ wsed 1o Ha df‘“w3 and b owea't

hove e some €ffed Anyrore.

Mark: 0 out of 1
Rationale: Incorrect answer

Exemplar 2 (1 mark)

A pharmacist must be accurate when preparing
medicationg because they must take tnte account the
actual measured valued compared to the real value.

Mark: 0 out of 1
Rationale: Incorrect response

Exemplar 3 (1 mark)

Hgo?",{?\(’/ sy be aecy fafe \;eum‘ge F yg\} *o wouch when
Preguring weds you could wmaKe 33
S0 you weed o \)e Autoie.

YE 1 A
AT LeNson powe ARy eve dose

Mark: 1 out of 1
Rationale: Correct response (1 mark)
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Question 29 E5.S.1 2 marks

Given the following measurement:

56.0+ 0.3 mm

A) State the minimum value. Do not round the final answer. (1 mark)

B)

Answer:

55.7 mm

State the tolerance of the measurement. Do not round the final answer. (1 mark)

Answer:

0.6 mm

62
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Exemplar 1 (2 marks)

A) gga7mm

B) O-3mm i

Mark: 1 out of 2
Rationale: Correct answer in Part A (1 mark)

Incorrect answer in Part B

Exemplar 2 (2 marks)

A 557 mm

B)
*O(‘CVW\C At i %’W\
£ 5
-3

Mark: 1 out of 2
Rationale: Correct answer in Part A (1 mark)
Incorrect answer in Part B
E2 (does not include units in final answer in Part B)
Note: No E2 deduction because no mark is awarded for this step.

Exemplar 3 (2 marks)
Y eh T

RSN

Mark: 1 out of 2

Rationale: Correct answer in Part A (1 mark)
E2 (does not include units in final answer)

Incorrect answer in Part B
E2 (does not include units in final answer)
Note: No E2 deduction because no mark is awarded for this step.
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Question 30 E5.P.1 1 mark

Three of the four forms of tolerance listed below indicate the same measurement in megahertz.
Choose the form of tolerance that indicates a different measurement.

A) 16+ 0.3 MHz

16.3
B) |57 MHz

+0.3
C) 15777 MHz

D) 15.7 ;0'6 MHz

Answer: C)
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Question 31 E5.P.1 2 marks

The recommended oil capacity of an engine has a maximum volume of 52.5 mL and a minimum
volume of 47.5 mL.

) . 1
State the measurement in the form: nominal value + 5 (tolerance).

Answer:
50 + 2.5mL
—_— ——
1 mark 1 mark
for for
nominal half

value tolerance
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Exemplar 1 (2 marks)

F},Sn\ 3-Sw‘l
S Wa 52 ml

e J

7wl
{/Z blecong = 3.5 ml
ﬂml\/\‘ll\t)‘ Jalye = L"?r\\

Mark: 2 out of 2
Rationale: Correct answers (follow-through error) (2 marks)
E3 (makes a transcription error)

Exemplar 2 (2 marks)

Max=G) 6as:%e  §O tﬁ,

i = 47, GFa57>

el

§-2= 2.9

Mark: 2 out of 2
Rationale: Correct answers (2 marks)
E2 (does not include units in final answer)

Exemplar 3 (2 marks)

o\ = S
nam:= €0

S0 r3(5)

Mark: 2 out of 2
Rationale: Correct answers (2 marks)
E2 (does not include units in final answer)
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Question 32  E5P.1 1 mark

Explain why the tolerance of an oven’s temperature needs to be considered when baking a cake for
30 minutes.
Sample answers:

— There is a range of acceptable temperatures so that the cake will not be underdone.
— There is a range of acceptable temperatures so that the cake will not be overdone.
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Exemplar 1 (1 mark)

E)o‘k;“j/ 13 a Gerwnce So F pure ba#ing.
Colle and (W irshveltons sy '3 f‘"‘”‘)"‘f"ﬂ,'ﬁfs net
Gmar¥ ¥ Puk i e for gn J WSS pir ime o cise
e blerme wilt be off pd < ot [ Cales

Mark: 0 out of 1
Rationale: Incorrect response (refers to time not temperature)

Exemplar 2 (1 mark)

£ Your tslerance. 15 4o N%\r\ \Jour CoNE
Coord orn and s 4 jow oor
O¥e  wort o at ol

Mark: 0 out of 1
Rationale: Incorrect response

Exemplar 3 (1 mark)

btewge  wsvalll Al Vth g
of w5y tw felemes

N L + S
(ov T — 5

Mark: 0 out of 1
Rationale: Incorrect response
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Question 33 E5.P.1 1 mark

State the precision of the oven dial.

Answer:

25°F
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Exemplar 1

(1 mark)

£

Mark: 0 out of 1
Rationale: Incorrect response
E2 (uses incorrect units of measure)

Note: No E2 deduction because no mark is awarded for this step.

Exemplar 2

(1 mark)

35° s the smallest whi
oF measuciiey it

Mark: 1 out of 1
Rationale: Correct answer (1 mark)
E2 (uses incorrect units of measure)
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Statistics

Question 34 E5.S.1 3 marks

Doug is a welder who is looking for employment. Hourly rates for available jobs are shown in the
table below:

$22.50 $29.50 $18.50 $26.75 $26.75 $17.59 $26.75
$26.75 $28.25 $17.50 $24.25 $18.50 $24.00 $26.75

A) State the mean hourly rate. (1 mark)

Answer:

Mean: $334.34

= $23.88 < 1 mark

B) State the mode of the hourly rate. (1 mark)

Answer:

Mode: $26.75

C) Explain why the mode may be a better indicator than the mean of the hourly rate Doug could

expect. (1 mark)

Answer:

The mode is the most common hourly rate.
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Exemplar 1 (3 marks)

A)
$22‘.150 $29f%0 X $1%5O > $2§\.75 ¥ $2§‘.75 <+ $17}.59 + $26.,(5 -
$2@\.75 —+ $28é25 T $17.}\30 - $24425 + $18§50 ‘- $2;1.00 --‘ $26175
add %o%e%cr =14=- 33.9
B) k.50

9 pecause its ¥ne mostr used #

Mark: 2 out of 3
Rationale: Correct answer in Part A (1 mark)
E2 (does not include units in final answer in Part A)

E4 (does not express the answer to the appropriate number of decimal places in
Part A)

Incorrect answer in Part B
E2 (does not include units in final answer in Part B)
Note: No E2 deduction because no mark is awarded for this step.

Correct answer in Part C (1 mark)

Exemplar 2 (3 marks)

B 7.2 7«/a
5 /)

) he hode K &//cr k-caqa, e mearn nes YA

/ow raksl whieh qulc( e It o, “"‘»

Mark: 1 out of 3
Rationale: Incorrect answer in Part A

Correct answer in Part B (1 mark)
Incorrect answer in Part C
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Exemplar 3 (3 marks)

A #2399

B) 2¢6.7¢

©) 5(,((/0\56 Mmoo ngfo\/es (e w\qkloi) 267§
her  dthec wc\f)u

Mark: 2 out of 3
Rationale: Incorrect answer in Part A

Correct answer in Part B (1 mark)
E2 (does not include units in final answer in Part B)

Correct answer in Part C (1 mark)
E2 (does not include units in final answer in Part C)
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Question 35  ESS2 2 marks

The table below indicates the hours (per week) that each student in a band practices their
instrument:

Practice
Student Hours per Week
Anna 0.25
Beth 25
Cassie 3.0
Dave 0.5
Ed 1.5
Fiona 1.25
Gordon 1.75
Hanna 20

Calculate Beth’s percentile rank for the time she spends practising her instrument.

Answer:
PR = 2 x 100
n
= g x 100 < 1 mark for all correct substitutions
=175
“75 or 75th or PRy < 1 mark
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Exemplar 1 (2 marks)

PR=(a.5+8)xw00o
PR = 3=t
Mark: 1 out of 2

Rationale: Incorrect substitution
Correct answer (follow-through error) (1 mark)

Exemplar 2 (2 marks)

0.6 £) )00
Q*/v\/

Q,@_;;')*IOO = 93,75

She 15 (n flee 94+ \0&((&14»'1,2 (ande,

Mark: 1 out of 2
Rationale: Incorrect substitution
Correct answer (follow-through error) (1 mark)

Exemplar 3 (2 marks)

PR o

5
P g e b

G2 ‘50#‘ ()e,(cm‘n\c_

Mark: 1 out of 2
Rationale: Incorrect substitution
Correct answer (follow-through error) (1 mark)
ES5 (does not use whole units in contextual questions involving discrete data)
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Question 36 E5.8.1

1 mark

Choose the letter that best completes the statement below.

Removing a high outlier:

A) increases the mean
B) lowers the mean
C) has no effect on the mean

D) increases the median

Answer: B)

78
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Question 37  ESS.I

2 marks

The test results from Jeremy’s Statistics course are listed below.

Test Results

50%

65%

70%

95%

40%

55%

His final grade in the course will be calculated using a trimmed mean.

Calculate Jeremy’s final grade after eliminating his highest and lowest test mark.

Answer:

Trimmed total: 50 + 55+ 65+ 70

=240

Number of marks remaining after trim: 4

Trimmed mean: ﬂ

= 60%

< 1 mark for process

< 1 mark
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Exemplar 1 (2 marks)

- NO
/

S

‘ Test Results ‘ s0% 4 65% z+ 70% M 55%

Mark: 1 out of 2

Rationale: Incorrect process

Correct answer (follow-through error) (1 mark)

Exemplar 2 (2 marks)

TestResults | (B0%> | 65% | 70% | 95% (io%) Cosd
Cs03 54 _
0¥ < 76,66

3

Mark: 1 out of 2

Rationale: Incorrect process
Correct answer (follow-through error) (1 mark)
E1 (rounds incorrectly)
E2 (does not include units in final answer)

Exemplar 3 (2 marks)

Outlus - o | S

Fooead mean - 60

Mark: 1 out of 2
Rationale: No process shown
Correct answer (1 mark)
E2 (does not include units in final answer)

Essential Mathematics: Marking Guide (June 2017) 81



Question 38

E5.S.1

3 marks

Megan is taking a Psychology class at university. The table below shows her marks and their
corresponding weights.

Calculate the mark Megan needs on her final exam to receive a final mark of 80%.

Category Average Mark (%) Weight (%)
Projects 75 10
Assignments 85 30
Tests 73 40
Exam ? 20

Answer:
Projects: 75%0.10= 7.5
Assignments: 85%0.30 =255, <« 1 mark for process
Tests: 73x0.40 =29.2
Subtotal: 62.2 1 mark
Exam mark: M x 100
=89% < 1 mark
82
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Exemplar 1

(3 marks)

622+ 18= 80.2 ~

Mark: 2 out of 3

Rationale: Correct process (1 mark)
Correct subtotal (1 mark)
Incorrect exam mark

Exemplar 2

(3 marks)

g0
proed-T1"0 L T,
gt =355 T LR R

ek = 24

an needs 19 oo hee Gredl to
Sk o Gral Mork of %O

3 =3

Mark: 3 out of 3
Rationale: Correct answer (3 marks)
E2 (does not include units in final answer)

Essential Mathematics: Marking Guide (June 2017)

83






Appendices






Appendix A:
Table of Questions by Unit and Learning Outcome

Home Finance

Question Learning Outcome Mark
1 E.6.H.1 2
2 E.6.H.1 1
3 E.6.H.1 2
4 E.6.H.1 2
5 E.6.H.1 1
6 E.6.H.1 3
7 E.6.H.1 2
Total = 13
Probability
Question Learning Outcome Mark
8 E6.P.1 2
9a) E6.P.1 1
9 b) E6.P.1 1
10 E6.P.1 3
11 a) E6.P.1 1
11 b) E6.P.1 1
12 E6.P.1 1
Total = 10
Vehicle Finance
Question Learning Outcome Mark
13 E5.V.1 2
14 a) E5.V.1 2
14 b) E5.V.1 2
15 E5.V.1 4
16 E5.V.1 1
17 E5.V.1 2
18 E5.V.1 1
19 a) E5.V.1 2
19 b) E5.V.1 1
20 E5.V.1 2
Total = 19
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Geometry and Trigonometry

Question Learning Outcome Mark
21a) E6.G.2 1
21 b) E6.G.2 1
22 a) E6.G.1 1
22 b) E6.G.1 2

23 E6.G.2 1
24 a) E6.G.1 2
24 b) E6.G.1 3

25 E6.G.2 1

26 E6.G.2 1

Total = 13
Precision Measurement

Question Learning Outcome Mark

27 E5.P.1 1

28 E5.P.1 1
29 a) E5.P.1 1
29 b) E5.P.1 1

30 E5.P.1 1

31 E5.P.1 2

32 E5.P.1 1

33 E5.P.1 1

Total =9
Statistics

Question Learning Outcome Mark
34 a) E5.S.1 1
34 b) E5.S5.1 1
34¢) E5.S5.1 1

35 E5.S.2 2

36 E5.S5.1 1

37 E5.S5.1 2

38 E5.S.1 3

Total = 11
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Appendix B:
Irregularities in Provincial Tests

A Guide for Local Marking

During the marking of provincial tests, irregularities are occasionally encountered in test
booklets. The following list provides examples of irregularities for which an lrregular Test
Booklet Report should be completed and sent to the department:

completely different penmanship in the same test booklet
e incoherent work with correct answers
notes from a teacher indicating how he or she has assisted a student during test
administration
student offering that he or she received assistance on a question from a teacher
student submitting work on unauthorized paper
evidence of cheating or plagiarism
disturbing or offensive content
no responses provided by the student (all “NR”) or only incorrect responses (“0”)

Student comments or responses indicating that the student may be at personal risk of being
harmed or of harming others are personal safety issues. This type of student response requires
an immediate and appropriate follow-up at the school level. In this case, please ensure the
department is made aware that follow-up has taken place by completing an lrregular Test
Booklet Report.

Except in the case of cheating or plagiarism where the result is a provincial test mark of 0%,

it is the responsibility of the division or the school to determine how they will proceed with
irregularities. Once an irregularity has been confirmed, the marker prepares an Irregular Test
Booklet Report documenting the situation, the people contacted, and the follow-up. The original
copy of this report is to be retained by the local jurisdiction and a copy is to be sent to the
department along with the test materials.
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Irregular Test Booklet Report

Test:

Date marked:

Booklet No.:

Problem(s) noted:

Question(s) affected:

Action taken or rationale for assigning marks:
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Follow-up:

Decision:

Marker’s Signature:

Principal’s Signature:

Consultant:

Date:

For Department Use Only—After Marking Complete
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Appendix C:
Communications Errors

Communication Errors

Communication errors are errors not conceptually related to the learning outcomes associated
with the question. The following communication errors will result in a 0.5 mark deduction. Each
error can only be deducted once per test and is tracked in a separate section on the Scoring
Sheet.

The total mark deduction for communication errors for any student response is not to exceed
the marks awarded for that response. For example, there would be no communication error
deductions if no marks were awarded for a given response.

E1 (Rounding)

e rounds incorrectly
e rounds too soon

E2 (Units)

e uses incorrect units of measure

e does not include units in final answer
(e.g., missing $ for monetary values, missing % for GDSR, missing degrees for angles)

E3 (Transcription/Transposition)

e makes a transcription error (inaccurate transferring of information)
e makes a transposition error (changing order of digits)

E4 (Final Answer)

e final answer not clearly indicated
(e.g., 3/4 and 3:1 presented, but final answer not indicated)

e answer is presented in another part of the question

e does not express the answer to the appropriate number of decimal places
(e.g., monetary values are not expressed to two decimal places)

e too much information is presented in the answer

E5 (Whole Units)

e does not use whole units in contextual questions involving discrete data
(e.g., people, cans of paint, percentile rank)
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